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INTEGRALI E FORMULA DI CAUCHY

Esercizio. Calcolare i seguenti integrali:

(1)

∫
γ

(5z4 − z3 + 2)dz dove γ = {reit , t ∈ [0, 2π]};

(2)

∫
γ

(z + z2z)dz dove γ = {reit , t ∈ [0, 2π]};

(3)

∫
γ

dz

z + 2
dove γ = {5eit , t ∈ [0, 2π]};

(4)

∫
γ

z(z + 4)dz dove γ = {2eit , t ∈ [0, π]};

(5)

∫
γ

dz

z3 − 1
dove γ = {1 + eit , t ∈ [0, 2π]};

(6)

∫
γ

dz

z3 − 1
dove γ = {e2πi/3 + eit , t ∈ [0, 2π]};

(7)

∫
γ

dz

z3 − 1
dove γ = {e4πi/3 + eit , t ∈ [0, 2π]};

(8)

∫
γ

dz

ez − 1
dove γ = {eit , t ∈ [0, 2π]};

(9)

∫
γ

dz

1− cos z
dove γ = {eit , t ∈ [0, 2π]};

(10)

∫
γ

sin z

z6
dz dove γ = {eit , t ∈ [0, 2π]};

(11)

∫
γ

cos z

z6
dz dove γ = {eit , t ∈ [0, 2π]};
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